Pre-Algebra Lesson 3.6 Solving Multi-Step Inequalities

Name_____________

Problem 1 : 

	 

	Tell whether the given number is a solution of 7x - 16 > 3x + 8.
9
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Problem 2 : 

	 

	Tell whether the given number is a solution of 11x - 5 > 5x + 1.
9
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Problem 3 : 

	 

	Solve the inequality.
-2s - 45
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Problem 4 : 

	 

	Solve the inequality.
-2s - 25
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Problem 5 : 

	 

	Your school's soccer team is trying to break the school record for goals scored in one season. Your team has already scored 86 goals this season. The record is 136 goals. With 10 games remaining on the schedule, how many goals, on average, does your team need to score per game to break the record?
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	Your team must average 5 goals or more per game.
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	Your team must average at least 5 goals per game.
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	Your team must average more than 5 goals per game.
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	Your team must average 5 goals per game.
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Problem 6 : 

	 

	Solve the inequality.
x
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Problem 7 : 

	 

	Solve the inequality.
x
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Problem 8 : 

	 

	Solve the inequality.
x
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Problem 9 : 

	 

	You plan to go ice skating often this winter. The skating rink charges $4 for admission. You can either rent ice skates at the skating rink for $3 per day or buy your own pair for $30. How many times do you have to use the ice skates in order for the cost of buying them to be less than the total cost of renting them?
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	The cost will be less after 10 visits.
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	The cost will be less after at least 10 visits.
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	The cost will be less after 10 or more visits.
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Problem 10 : 

	 

	At a video store, you have two options for renting movies. You can pay $5 per movie, or you can pay a one-time membership fee of $18 and then pay only $2 per movie. After how many movie rentals will the cost of the membership be less than the cost of renting movies without the membership?
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	You need to rent more than 6 movies.
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	You need to rent 6 movies.
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	You need to rent less than 6 movies.
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